SironG

AUV IV

A STRONGHOLD BY

B
1B

M0928
M1036
M1038
M1236
M1246
M1546
M1552
M1768
M1868
M1870
M1875
M1878
M2078
M2085
M2091
M2511
M2511S

PRECISION AND POWER.

= 8 0 2= B 85 i BR ]

High speed through-hole rotary
hydraulic cylinder

1. /VEUBSE : LLEBEHNRE - BIR/E(MAX 95mm
5E4E) - BEE(MAX 4.5kgiEE L) - SEEEIFHIMEEE
EETE « EREEIRNaE -

2. EAMNEET kB FNRBAFIRE20%ME
B - CIfERWMRIBE DT D HER -

3. RE1EE | UL CIR AR RISHEDIEE -

B{i1 : mm

90
105
105
125
125
155
155
175
180
180
180
180
205
205
205
250
250

53.2/48.3
71/68.5
711766
100 /89
100 /89
161/154
161 /150
184 /183
198 /197
198 /183
198/183
198 /183
262 /234
252 /234
252 /234
348 /336
348 /336

19.9(2029) / 18(1835)
26(2651) / 25(2549)
26(2651) / 24.5(2498)
38(3875) / 33(3365)
38(3875) / 33(3365)
60(6118) / 57.8(5894)
60(6118) / 56(5710)
69.3(7067) / 69(7036)
74(7546) / 73.5(7495)
74(7546) / 69(7036)
74(7546) / 69(7036)
74(7546) / 69(7036)
98(9993) / 88(8973)
94(9585) / 88(8973)
94(9585) / 88(8973)
124(12644) / 120(12236)
124(12644) / 120(12236)

10 4.0(40.8) 8000 0.006 5.5
15 4.0(40.8) 8000 0.011 8.6
15 4.0(40.8) 8000 0.011 8.5
15 4.0(40.8) 7000 0.019 13
15 4.0(40.8) 7000 0.019 12
22 4.0(40.8) 6200 0.056 18
22 4.0(40.8) 6200 0.052 16.8
25 4.0(40.8) 4700 0.096 27.5
25 4.0(40.8) 4700 0.098 28
25 4.0(40.8) 4700 0.095 26.5
25 4.0(40.8) 4700 0.095 26
25 4.0(40.8) 4700 0.095 255
23 40(40.8) 3800 0.15 36.5
30 4.0(40.8) 3800 0.15 37.5
30 4.0(40.8) 3800 0.15 37
23 4.0(40.8) 2800 0.45 57
23 4.0(40.8) 2800 0.41 53

3.0
3.0
3.0
3.0
3.0
3.9
3.9
4.2
4.2
4.2
4.2
4.2
45
4.5
4.5
7.0
7.0



B
R 3
M0928

M1036
M1038
M1236
M1246
M1546
M1552
M1768
M1868
M1870
M1875
M1878
M2078
M2085
M2091
M2511S

AT
B
Q1

A1 Bf
9 108
11 120.5
11 120.5
11 126.5
11 126.5
11 1335
11 133.5
17.5 152.5
17.5 152.5
17.5 152.5
17.5 152.5
17.5 152.5
21 166.5
21 1665
21 1665
21 1695

B 5
B

M0928
M1036
M1038
M1236
M1246
M1546
M1552
M1768
M1868
M1870
M1875
M1878
M2078
M2085
M2091
M2511S

120 100
136 115
136 115
155 130
155 130
190 170
190 170
215 190
215 190
215 190
215 190
215 190
240 215
240 215
240 215
310 275

P —
T = 1
b8
2x2- 1 J { -
S - ol
- (e st
N " g o4 sa | &1 3| S
) 1l oloo Sz 2z [ A _ == - olugools
S8 S 218 = S g v B SR ENENEE
; B R e 0 o L SL
= 1 T — iy
[
-
-
W | (=
E1 H
]
4| !'l —/’_ \ﬂ
H i
g ] PT 1" o G1
; 8 (M0928 PT3/4") K1
g
@33
B : mm
C1 Ei F1 Gt Ht J1 Ki L1 M1 N1 Pi Qi R1 S1 T1 U1 WA+ X1 Y1
25 8-M6x10 6-M8x15 110 76 58 44 15 34 53 4 4-M4x7 5 PT1/4" 6 116 M34x15 32 15
25 6-M5x10 6-M10x17 126 88 68 53 15 38 64 4 6-M5x12 5 PT3/8" 6 136 M44x1.5 42 14
25 6-M5x10 6-M10x17 126 88 68 53 15 40 64 4 6-M5x12 5 PT3/8" 6 136 M44x15 42 14
25 6-M6x12 12-M10x20 135 98 76 47 15 38 76 4 4-M5x12 6 PT1/2" 6 169 M52x1.5 50 14
30 6-M6x12 12-M10x20 135 98 76 47 15 50 76 4 4-Mb5x12 6 PT1/2" 6 169 M52x1.5 50 14
30 6-M6x12 12-M10x20 145 110 86 47 15 50 85 4 4-Mé6x12 7 PT1/2" 6 188 M58x1.5 56 13.5
30 6-M6x12 12-M10x20 145 110 86 47 15 55 85 4 4-Mex12 7 PT1/2" 6 188 M58x1.5 56 13.5
35 6-M6x12 12-M10x20 166 155 101 47 15 70 108 4 4-Méx12 75 PT1/2" 6 215 M84x2 81 125
35 6-M6x12 12-M10x20 166 155 101 47 15 70 108 4 4-Mé6x12 7.5 PT1/2" 6 215 M84x2 81 125
35 6-M6x12 12-M10x20 166 155 101 47 15 75 108 4 4-Méxi2 7.5 PT1/2" 6 215 M84x2 81 125
35 6-M6x12 12-M10x20 166 155 101 47 15 80 108 4 4-Méxi2 75 PT1/2" 6 215 M84x2 81 125
35 6-M6x12 12-M10x20 166 155 101 47 20 82 108 4 4-Méx12 75 PT1/2" 6 215 M84x2 81 125
35 6-M6x12 12-M12x24 182 165 110 47 20 84 120 4 4-Mé6x12 7 PT1/2" 6 240 M99x2 96 20
35 6-M6x12 12-M12x24 182 165 110 47 20 89 120 4 4-Méx12 7 PT1/2" 6 240 M99x2 96 13
35 6-M6x12 12-M12x24 182 165 110 47 15 95 120 4 4-Mé6x12 7 PT1/2" 6 240 M99x2 96 13
45 6-M6x12 12-M16x32 192 206 132 55 20 123 160 5 4-Mé6x12 7 PT1/2" 6 294 — 1346 —
V V w W
E F G H J K L N P Q S T U max. min.  max.  min. X Z
80 65 44 M38x1.5 28 25 63 44 59 76 90 105 151 14 4 35 25 3 5
100 65 48 M42x1.5 36 32 71 55 73 88 104 115 1745 15 0 39 24 2.5 5
100 65 50 M44x1.5 38 32 71 55 73 88 104 115 1745 15 0 39 24 2.5 5
100 80 65 M42x1.5 36 36 76 64 85 98 118 114 179 15 0 40 25 4 5
100 80 65 M55x2 46 36 76 64 85 98 118 114 179 15 0 40 25 4 5
130 85 65 M55x2 46 36 84 73 96 114 137 130 1905 22 0 475 255 35 5
130 85 70 M60x2 52 36 84 73 96 114 137 130 1905 22 0 475 255 35 5
160 120 85 M75x2 68 36 95 98 121 140 165 159 225 25 0 50 25 3 5
160 120 85 M75x2 68 36 95 98 121 140 165 159 225 25 0 50 25 3 5
160 120 95 M78x2 70 36 95 98 121 140 165 159 225 25 0 50 25 3 5
160 120 95 M85x2 75 36 95 98 121 140 165 159 225 25 0 50 25 3 5
160 120 95 M87x2 78 36 95 98 121 140 165 159 225 25 0 50 25 8 5
180 140 110 M90Ox2 78 36 104 108 138 158 182 177 248 23 0 55 32 3 5
180 140 110 M93x2 85 36 104 108 138 158 182 177 248 30 0 55) 25 3 5
180 140 110 M100x2 91 36 104 108 138 158 182 177 248 30 0 55 25 3 5
230 166 140 M130x2 1175 36 101 148 178 190 232 215 258 24 1 38 15 3 6





